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0 .000 0 .000 0 .000
oo I=1/0 o ©
I=1/0 o o
oo oo
Q(m/s) 12.00 12.00 12.00 12.00
n(s/m”3)| 0.014 0.015 0.014 0.015
I, 1/3800 1/3800 | 1/1300 | 1/1300
1,12 0.01622 | 0.01622 | 0.02774 | 0.02774
b(m) 6.200 6.200 4.300 4.300
d(m) 1.608 1.608 1.522 1.522
A(m?) 9.970 9.970 6.545 6.545
P(m) 9.416 9.416 7.344 7.344
R(m) 1.059 1.059 0.891 0.891
R273 1.039 1.039 0.926 0.926
V(m/s) 1.204 1.204 1.834 1.834
hv(m) 0.074 0.074 0.172 0.172
Fr 0.303 0.303 0.475 0.475
0.000263 | 0.000302 | 0.000769 | 0.000883
Fb*(m) 0.287 0.277 0.379 0.357
Fb(m) 0.292 0.292 0.379 0.379
H(m) 1.900 1.900 1.900 1.900

Fb*=0.07d hv 0.10(m)
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(m/s) | (n/s) m | m [ m | m | m | (m
== B H
NO.2+18.70 1.491 18.282| 0.113/18.169 1.54216.627 5.22x 2.00
0.008 f,,:=0.2
3.30 .015] 12.00] 0.000521] 0.001
B H
NO.3+2.00 1.204 18.273] 0.074]18.199 1.608/16.591 L_— 6.20x 1.90
(1/3800)
17.97 .014) 12.00 0.000263 0.005 !
NO.4 1.204 18.268 0.074]18.194f 1.608 16.586
8.00 .014 12.00 0.000263 0.002 !
NO.4+8.00 1.204 18.266| 0.074{18.192( 1.608 16.584
12.00 .014 12.00 0.000263 0.003 !
NO.5 1.204 18.263 0.074{18.189 1.608 16.581
19.99 .014 12.00 0.000263 0.005 !
NO.6 1.204 18.258 0.074]18.184 1.608 16.576
20.00 .014 12.00 0.000263 0.005 !
NO.7 1.204 18.252| 0.074/18.178 1.608| 16.570)
20.00 .014 12.00 0.000263 0.005 !
NO.8 1.204 18.247 0.074{18.173] 1.608 16.565
20.00 .014 12.00 0.000263 0.005 !
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20.00 .014 12.00 0.000263 0.005 !
NO.10 1.204 18.236| 0.074]{18.163] 1.608 16.555
20.01 .014 12.00 0.000263 0.005 !
NO.11 1.204 18.231] 0.07418.157| 1.608| 16.549
19.99 .014 12.00 0.000263 0.005 !
NO.12 1.204 18.226( 0.074/18.152 1.608| 16.544
19.98 .014 12.00 0.000263 0.005 !
NO.13 1.204 18.221 0.07418.147 1.608| 16.539
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3 60 3600 lLOO__l
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P(m) 6.354 8.308 7.172
R(M) 0.780 1.020 0.829
V(m/s) 1.759 1.029 1.467 1.896
hv(m) 0.158 0.054 0.110 0.183
1(%0) 0.969 0.232 0.622
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3.-2)

D

M kN m -27.6 61.2 -27.8
N kN 16.5 11.0 16.5
b cm 100.0 100.0 100.0
h cm 45.0 35.0 45.0
d cm 41.5 30.0 41.5
dl cm 3.5 3.5 3.5
d2 cm 5.0 5.0 5.0
cm? 3.88 0.00 3.91
cm? 0.00 13.89 0.00

D16@300 D16@300 D16@300

cm? D16@300 D16@300 D16@300

13.240 13.240 13.240

D25@300 D25@300 D25@300

cm? D25@300 D25@300 D25@300

33.780 33.780 33.780

X cm 12.091 13.308 12.084
oc | N/mm? 1.36 3.68 1.37
os | N/mm? 49.57 69.22 49.87
o ca | N/mm? 14.00 14.00 14.00
o sa | N/mm? 160.00 160.00 160.00

5 3 5
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tm:i ta
b d
b=100.0(cm)

S d Tm T a

(kN) (cm) | (N/mm?) | (N/mm?)

59.9| 31.5 0.190 | 1.100 3
53.6| 31.5 0.170 | 0.550 3
-53.7| 31.5 0.171 | 0.550 3
-60.0| 31.5 0.190 | 1.100 3
-18.2| 26.5 0.069 | 1.100 6
-13.0| 26.5 0.049 | 0.550 5
17.0| 26.5 0.064 | 0.550 6
36.7| 26.5 0.138 | 1.100 6
18.2| 26.5 0.069 | 1.100 6
13.0| 26.5 0.049 | 0.550 5
-17.0| 26.5 0.064 | 0.550 6
-36.7| 26.5 0.138 | 1.100 6
-72.7| 31.5 0.231 1.100 3
-47.4| 31.5 0.151 | 0.550 3
47.9| 31.5 0.152 | 0.550 3
76.2 | 31.5 0.242 1.100 3
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HO = o.oo0o0 m
X1 = o.oo0o0 m
n=l: o .ooo
Q = o.ooo kN
a = o.o000
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y Ws= o .00
yw= o.oo
y sc= o .00
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o

7
NYI G 7 Y
d Z=id
| — T
2 h‘E lEOS/nEl
-0 .0

S(kN) 6.965 21.676 5.954

M(KN m) 2.770 14.861 14.861

b(cm) 100 100 100

t( ) 20 20 20

d( ) 12 12 12

os(  x ) D13x 8.0 D13x 8.0 D13x 8.0

As(cm?) 10.136 10.136 10.136

Us( ) 32.0 32.0 32.0
Es/Ec n n=Es/Ec 15 15 15

P P=As/b d 0.0084 0.0084 0.0084

K k={2n P+(n P)?}*2-n P 0.392 0.392 0.392

J J=1-k/3 0.869 0.869 0.869

Z Z=j d 10.428 10.428 10.428

X(cm) X=k d 4.704 4.704 4.704

o c(N/mm?) oc=2M/(b X 2) 1.1 6.1 6.1

o s(N/mm?) o s=M/(As 2) 26.2 140.6 140.6

T (N/mn?) 1=S/h Z 0.07 0.21 0.06

T O(N/mm?) S/Us Z 0.65 0.65 0.65

o ca(N/mm?) 10.0 10.0 10.0

o sa(N/mm?) 157 157 157

T a(N/mm?) 1.0 1.0 1.0

T ua(N/mm?) 1.8 1.8 1.8
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(qmax)

gmax = (G1l+G2+G3+G4)/Bo

G1

={t1+t2) H+(B+2 t2+2 t4) t3} osc
={(0.2+0.200) 0.900+(2.350+2" 0.200+2" 0.000)" 0.200}" 2.50

=2.3(t/m)

G2
=(B1+B)/2 H gw
=(2.350+2.350)/2" 0.900" 1.000
=2.115(t/ m)

G3
=2 t4(H- hwo) ¢
=20 (0.90- 0.45)" 1.80
=0(t/m)

G4
=2 t4 hwO gws
=207 045 1.00
=0(t/m)

=B+2(t2+1t4)
=2.35+2" (0.20+0.00)
=2.750(m)
qmax = (2.275+2.115+ 0,000+ 0)/ 2.750 = 1.596(t /)

ga=1/3fr C Nc+f gl B Nr+g2 Df Ng)
=1/3 (1.0° 0" 9.9+0.5 1.90" 3.3+1.90" 1.74" 7.6)
=9.420(t/ ) 1,596




Fs=1.0
Fs=(G1+G3+G4)/(F1+F2)

F1
=H2(B+2 t2) gw
=0.65" (2.35+0.40)" 1.00
=1.788(t/ m)

H2=hw0+t3=0.45+0.20=0.65(m)
F2

=12 t2 t4 gw
=0.40" 0.00" 1.00
=0(t/m)

qmax = (2.275+0+0.000)/(1.788+0)
=1.273 1.0
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5.6.5

5.6.6

5.1.4

5.1.4

5.6.4

5.6.5

5.6.6

12 30"

d, = 0.649m
2_9_&_ 541m/s
A 1.100° 0.649
2 2
vy = Ve 2 OSAE i
2xg 2798

E, = d,"+hv, = 0.649 + 0.015 = 0.664m

d, =0.333m
V, =0.966m/s
hv, =0.048m

E,=d;+hv;+ H
0.664 =0.333+0.048+ H
\' H=0.283m

1/4
L=0.283" 4=1.132m
L =1.500m

1:4
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5.7.2
@)

@

5.7.2
@
o O
o .0oonm
o .0oonm
@
Po o
tand =1/(3 Fr) 1/9
Fr Fr=viy(g h)
g 9.8(m/s?)
v (n/s)
d (m)
V =7.902m/S d =0.195m
F=V/(g" d)f'*=7.902/(9.8" 0.195)"* =5.710
\ tanqg :i:,;:o.058 1
3F 3 571 9

tand =0.058 tan® =0.050




@ ®

o .o om/s om 1
o .oonm
G.1
V, =5.8525m/S  d, = 0.05996m
V 5.852

F= 1(1/2) = . 1/2) =7.6348m

(9>d,) (9.8" 0.06 )

(7.7591
1. . —o\v2) L)

d, = [(1+8 F2)f'o. 1] d,

:%' b5 763572 - 1] 0.060

=0.618m
d, =0.618" 1.05=0.649m

(1.036m
(3.2) L
F=7.63
6 —
1 ﬂ%lswml (HABR) T~
0 TR
4 _ =
M AV EK it

Pl

° 2 4 6 8 10 12 14 16 18 20
-0 .0
L 6.100
d

2

\ L=6.1"d, =6.100" 0.649 =3.959m
L =4.000m 6.50m
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F,=0.1" (v+d,)=0.1" (5.852+0.649) = 0.650m

H =0.649+0.650=1.299 1.30m
(1.90m

¢ 50
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tl B3 x1, X2
% L 0
—Z
—=L—] hwi = i
h w0
C 1 t3
AL
t 4
H = o.oo00 nm
Bl= o.ooo0 nm
B = o.oo0o0 nm
L = o.oo00 nm
tl= o.o0o00 m
t2= o.000 m
t3= o.0o00 m
t4 = o .o0o0o0 m
P = o.ooo KkN/m
HO = o.oo0oo0 m
X1 = o.oo0o0 m
n=l: o .ooo
Q = o.ooo kN
a = o.oo0o0
b = o.oo0o0
X" = o.oo00 m
Il = o.oo0o0
gMo= o .o oo kN/m
gs = o .ooo kN/m
hwo= o .oo o m
hwi= o .ooo m
@ = oo
Ka = o .ooo
yt= o.ocoo
yt= o.ocoo
y Ws= o .oo0o0
yw= o.oo0o0
y SC= 0 .0 00
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@

]
NYI G 7 é_; Z)M
=
| — T
-0 .0

S(kN) 6.965 21.676 5.954

M(KN m) 2.770 14.861 14.861

b(cm) 100 100 100

t(cm)

d(cm) 12 12 12

os( x ) D13x 8.0 D13x 8.0 D13x 8.0

As(cm?) 10.136 10.136 10.136

Us(cm) 32.0 32.0 32.0
Es/Ec n n=Es/Ec 15 15 15

P P=As/b d 0.0084 0.0084 0.0084

k k={2n P+(n P)?“2-n P 0.392 0.392 0.392

J J=1-k/3 0.869 0.869 0.869

Z Z=j d 10.428 10.428 10.428

X(cm) X=k d 4.704 4.704 4.704

o c(N/mm?) oc=2M/(b X 2) 1.1 6.1 6.1

o s(N/mm?) o s=M/(As 2) 26.2 140.6 140.6

T (N/mn?) T1=S/b Z 0.07 0.21 0.06

T O(N/mm?) S/Us Z 0.65 0.65 0.65

o ca(N/mm?) 10.0 10.0 10.0

o sa(N/mm?) 157 157 157

T a (N/mm?) 1.0 1.0 1.0

T ua(N/mm?) 1.8 1.8 1.8
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H = o.oo00 nm
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B = o.oo0o0 nm
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t2= o.000 m
t3= o.0o00 m
t4 = o .o0o0o0 m
P = o.o kN/m
HO = o .o m
X1= o.oo0o0 m
n=1: o .o
Q = o.ooo kN
a = o.oo0o0
b = o.oo0o0
X" = o.oo00 m
i = o.000
gMo= o .o oo kN/m
gs = o .ooo kN/m
hwo= o .ooo m
hwi= o .ooo0 m
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| — T
-0 .0

S(kN) 6.965 21.676 5.954

M(KN m) 2.770 14.861 14.861

b(cm) 100 100 100

t(cm)

d(cm) 12 12 12

os( x ) D13x 8.0 D13x 8.0 D13x 8.0

As(cm?) 10.136 10.136 10.136

Us(cm) 32.0 32.0 32.0
Es/Ec n n=Es/Ec 15 15 15

P P=As/b d 0.0084 0.0084 0.0084

k k={2n P+(n P)?“2-n P 0.392 0.392 0.392

J J=1-k/3 0.869 0.869 0.869

Z Z=j d 10.428 10.428 10.428

X(cm) X=k d 4.704 4.704 4.704

o c(N/mm?) oc=2M/(b X 2) 1.1 6.1 6.1

o s(N/mm?) o s=M/(As 2) 26.2 140.6 140.6

T (N/mn?) T1=S/b Z 0.07 0.21 0.06

T O(N/mm?) S/Us Z 0.65 0.65 0.65

o ca(N/mm?) 10.0 10.0 10.0

o sa(N/mm?) 157 157 157

T a (N/mm?) 1.0 1.0 1.0

T ua(N/mm?) 1.8 1.8 1.8




®

®

G1

G2

G3

G4

(qmax)

gmax = (Gl+G2+G3+G4)/Bo

={(n+t2) H+(B+2 t2+2 t4) t3} y s
={(0.20+0.20)" 0.90+(2.35+2" 0.20+2" 0.00)" 0.20}" 24.5
=22.3(kN/m)

=(B1+B)/2 H y
=(2.35+2.35)/2" 0.90 9.8
=20.7(kN/m)

=2 t4(H- hwo) y
=2 0" (0.90- 0.45)" 18.0
=0.0(kN/m)

=2 t4 hwO vy
=2"07 045 9.8
=0.0(kN/m)

=B+2(t2+14)
=2.35+2" (0.20+0.00)
=2.75(m)
gmax = (22.3+20.7 +0.0+0.0)/ 2.75=15.6(kN / m?)

ga=1/3f C Nc+B dl Nr+g2 Df Nq)

=1/3" (1.0 0" 9.9+0.5" 18.0" 3.3+18.0° 1.74" 7.6)
= 89.24(kN/m?) 15.6




6.2

6.1

6.2
(1)6.1
@

6.2

Fs=1.0
Fs=(G1+G3+G4)/(F1+F2)

F1
=H2(B+2 t2) gw
=0.65" (2.35+0.40)" 9.8
=17.52(kN/m)

H2=hw0+t3=0.45+0.20=0.65(m)
F2

=12 t2 t4 gw
=0.40° 0.00" 9.8
= 0(kN/m)

qmax = (22.30+0+0.000)/(17.52 + 0)
=1.273 1.0
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21 36 51 35
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8.1

8.

8.

1.1
€Y)

@

®

1.2

€Y)

@

®

€Y)

8.1.1
(1)6.1

8.1.2
(1)6.1

8.1
8.1.1

€Y)

@

Po o

l:0 .0

t=0 .0

l:0 .0

t=0 .o cm

l:0 .0

®

8.1.2

€Y)

No.oo oo .o o0 o0

@
1/0 o

®
(CRY

a.o o

R24=94 mm/




tp - C’ A0.22 4 go-0.35

=290" A°®” (0.6” 499.4" tp 3] °®
=30.41" AP®" pP

290
(km*)
y (mm/hr)

(0.6)
\ tp=120.3" A°#

tp =120.3" 0.11°%'
=71.3min

2/3

_Ry.224 0
24 gthGOE

94, :24 B

=< =4994 tp?3 h
o gthGOB 99.4" tp 2"*(mm/ hr)

| =499.4" 71.3 %3
=29.0mm/hr

Qp=1/36"06"1 A=0.167" 1" Alm’/s)
Qp=0.167" 29.0" 0.11=0.532m*/s




*

3.-2)

*

N=0.014
Po o
-0 .0
BF-700 BF-800 BF-900 BF-1000
a= 0.700 0.800 0.900 1.000
= 0.610 0.695 0.785 0.875
H 0.440 0.490 0.550 0.600
= 0.350 0.400 0.450 0.500
= 0.222 0.291 0.369 0.458
P= 1.267 1.453 1.636 1.827
= 0.175 0.200 0.225 0.251
= 0.014 0.014 0.014 0.014
= 22.348*|%5 24.428*1°%-° 26.424*1°%-5 28.422*1°%-5
= 4.961*1°-5 7.109*1°-° 9_750*1°° 13.017*1°°
] v 0 v 0 v 0 v 0
1/10 7.067 1.569 7.725 2.248 8.356 3.083 8.988 4.116
1/20 4.997 1.109 5.462 1.590 5.909 2.180 6.355 2.911
1/30 4.080 0.906 4.460 1.298 4.824 1.780 5.189 2.377
1/40 3.533 0.784 3.862 1.124 4.178 1.542 4.494 2.058
1/50 3.160 0.702 3.455 1.005 3.737 1.379 4.019 1.841
1/60 2.885 0.640 3.154 0.918 3.411 1.259 3.669 1.681
1/70 2.671 0.593 2.920 0.850 3.158 1.165 3.397 1.556
1/80 2.499 0.555 2.731 0.795 2.954 1.090 3.178 1.455
1/90 2.356 0.523 2.575 0.749 2.785 1.028 2.996 1.372
1/100 2.235 0.496 2.443 0.711 2.642 0.975 2.842 1.302
1/110 2.131 0.473 2.329 0.678 2.519 0.930 2.710 1.241
1/120 2.040 0.453 2.230 0.649 2.412 0.890 2.595 1.188
1/130 1.960 0.435 2.142 0.623 2.318 0.855 2.493 1.142
1/140 1.889 0.419 2.065 0.601 2.233 0.824 2.402 1.100
1/150 1.825 0.405 1.995 0.580 2.157 0.796 2.321 1.063
1/160 1.767 0.392 1.931 0.562 2.089 0.771 2.247 1.029
1/170 1.714 0.381 1.874 0.545 2.027 0.748 2.180 0.998
1/180 1.666 0.370 1.821 0.530 1.970 0.727 2.118 0.970
1/190 1.621 0.360 1.772 0.516 1.917 0.707 2.062 0.944
1/200 1.580 0.351 1.727 0.503 1.868 0.689 2.010 0.920
1/250 1.413 0.314 1.545 0.450 1.671 0.617 1.798 0.823
1/300 1.290 0.286 1.410 0.410 1.526 0.563 1.641 0.752
1/350 1.195 0.265 1.306 0.380 1.412 0.521 1.519 0.696
1/400 1.117 0.248 1.221 0.355 1.321 0.488 1.421 0.651
1/450 1.053 0.234 1.152 0.335 1.246 0.460 1.340 0.614
1/500 0.999 0.222 1.092 0.318 1.182 0.436 1.271 0.582
1/550 0.953 0.212 1.042 0.303 1.127 0.416 1.212 0.555
1/600 0.912 0.203 0.997 0.290 1.079 0.398 1.160 0.531
BF-o0 o o
0.532 m¥/s o.oo m/s 0K

I=1/0 o ©
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8.1.2

8.1.3
(1)6.1
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€Y)

No.oo oo .o oo

@

®
(CRY

R24 94 mm/

tp=C" A®2" g, °®
=290" A°2" (0.6” 499.4" tp23) %
=30.41° A°%” 0

290
(km*)
y (mm/hr)

0.6)
tp =120.3" 0.11°%
=71.3min

.2/3

R,.®24 0
| = —= —  +
24 gthGOE

.213
98224 9 _yg94 tp ?*(mm/ hr)
24 gthGO,'a

| =499.4" 71.3°%3
=29.0mm/hr




Qp=1/36"06"1 A=0.167" 1" Am’/s)

Qp=0.167" 29.0" 0.11=0.532m*/s

3-2)
n=0.013
0.30m
Fr=v/(g*d)"*
-0 .0
HP-700 HP-800 HP-900
D= 0.7000 0.8000 0.9000
= 0.4000 0.5000 0.6000
e 1.4274 1.3181 1.2310
A= 0.2273 0.3305 0.4505
P= 1.1999 1.4588 1.7196
= 0.1894 0.2265 0.2620
N= 0.0130 0.0130 0.0130
V= 25.3725%1°° 28.5868*1°5 31.4969*1°5
05 5.7673%1°° 9.4475%1°° 14.1907%1°5
I v Q Fr v Q Fr v Q Fr
1/10 8.0235 | 1.8238 | 4.0525 | 9.0399 | 2.9876 | 4.5659 | 9.9602 | 4.4875 | 5.0307
1/15 6.5512 | 1.4891 | 3.3088 | 7.3811 | 2.4393 | 3.7280 | 8.1325 | 3.6640 | 4.1075
1/20 5.6735 | 1.2896 | 2.8655 | 6.3922 | 2.1125 | 3.2285 | 7.0429 | 3.1731 | 3.5572
1/25 5.0745 | 1.1535 | 2.5630 | 5.7174 | 1.8895 | 2.8877 | 6.2994 | 2.8381 | 3.1817
1/30 4.6324 | 1.0530 | 2.3397 | 5.2192 | 1.7249 | 2.6361 | 5.7505 | 2.5909 | 2.9044
1/35 4.2887 | 0.9748 | 2.1661 | 4.8320 | 1.5969 | 2.4406 | 5.3239 | 2.3987 | 2.6890
1/40 4.0117 | 0.9119 | 2.0262 | 4.5200 | 1.4938 | 2.2829 | 4.9801 | 2.2437 | 2.5153
1/45 3.7823 | 0.8597 | 1.9104 | 4.2615 | 1.4084 | 2.1524 | 4.6953 | 2.1154 | 2.3715
1/50 3.5882 | 0.8156 | 1.8123 | 4.0428 | 1.3361 | 2.0419 | 4.4543 | 2.0069 | 2.2498
1/55 3.4212 | 0.7777 | 1.7280 | 3.85546 | 1.2739 | 1.9469 | 4.2470 | 1.9135 | 2.1451
1/60 3.2756 | 0.7445 | 1.6544 | 3.6905 | 1.2197 | 1.8640 | 4.0662 | 1.8320 | 2.0538
1/65 3.1471 | 0.7153 | 1.5895 | 3.5458 | 1.1718 | 1.7909 | 3.9067 | 1.7601 | 1.9732
1/70 3.0326 | 0.6893 | 1.5317 | 3.4168 | 1.1292 | 1.7257 | 3.7646 | 1.6961 | 1.9014
1/75 2.9208 | 0.6659 | 1.4798 | 3.3009 | 1.0909 | 1.6672 | 3.6369 | 1.6386 | 1.8369
1/80 2.8367 | 0.6448 | 1.4328 | 3.1961 | 1.0563 | 1.6143 | 3.5215 | 1.5866 | 1.7786
1/85 2.7520 | 0.6255 | 1.3900 | 3.1007 | 1.0247 | 1.5661 | 3.4163 | 1.5392 | 1.7255
1/90 2.6745 | 0.6079 | 1.3508 | 3.0133 | 0.9959 | 1.5220 | 3.3201 | 1.4958 | 1.6769
1/95 2.6032 | 0.5917 | 1.3148 | 2.9329 | 0.9693 | 1.4814 | 3.2315 | 1.4559 | 1.6322
1/100 2.5373 | 0.5767 | 1.2815 | 2.8587 | 0.9448 | 1.4439 | 3.1497 | 1.4191 | 1.5908
1/105 2.4761 | 0.5628 | 1.2506 | 2.7898 | 0.9220 | 1.4091 | 3.0738 | 1.3849 | 1.5525
1/110 2.4192 | 0.5499 | 1.2219 | 2.7256 | 0.9008 | 1.3767 | 3.0031 | 1.3530 | 1.5168
1/115 2.3660 | 0.5378 | 1.1950 | 2.6657 | 0.8810 | 1.3464 | 2.9371 | 1.3233 | 1.4835
1/120 2.3162 | 0.5265 | 1.1698 | 2.6096 | 0.8624 | 1.3180 | 2.8753 | 1.2954 | 1.4522
1/125 2.2694 | 0.5158 | 1.1462 | 2.5569 | 0.8450 | 1.2914 | 2.8172 | 1.2693 | 1.4229
1/130 2.2253 | 0.5058 | 1.1240 | 2.5072 | 0.8286 | 1.2663 | 2.7625 | 1.2446 | 1.3953
1/135 2.1837 | 0.4964 | 1.1029 | 2.4604 | 0.8131 | 1.2427 | 2.7108 | 1.2213 | 1.3692
1/140 2.1444 | 0.4874 | 1.0831 | 2.4160 | 0.7985 | 1.2203 | 2.6620 | 1.1993 | 1.3445
1/145 2.1071 | 0.4789 | 1.0642 | 2.3740 | 0.7846 | 1.1991 | 2.6157 | 1.1785 | 1.3211
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